
№ �48<е=о64=8е Ед.87< Кол-6о Це=4 %то8<оEтP/Dу5.

1 ТDу54 �В% D 200<< 3< Hт 218 3150 686700
0

2 ТDу54 �В% D 250<< 3< Hт 165 5200 858000

3 КолLFо Eт4к4= D 1000 Hт 37 6200 229400

4 О7оло6=8к D 1000 Hт 37 4800 177600

5 ЛNк тO6елK9 до6депD8е<=K9 Hт 37 15700 580900

6 КолLFо D 1000 Hт 18 4200 75600

7 �4Eт8к4 6едDо 6 2700 16200

8 �еEок т 650 400 260000

9 &е<е=т <еH 37 450 16650

10  4EEод=Kе <4теD84лK ко<п. 1 15000 15000

Ито7о: 2916050

1 �о=т46 тDу5K D 200/250 </п 1149 470 540030

3  45от4 MкEк464тоD4 G 300 1800 540000

4 �о=т46 колодF4 Hт 36 5000 180000

5 ВKEт46ле=8е колодF4 =4 от<етку Hт 36 1300 46800

7 ДоEт46к4 65 87дел89 Dе9E 5 6000 30000

8 ВDе7к4 6 EуI. Eет8 Hт 2 5000 10000

9 ДоEт46к4 тDу5 Dе9E 4 6000 24000

10 �DоG8Eтк4 Eет8 пеDед Eд4Gе9 G4E 3 2900 8700

11 !=456е=8е о5Jект4 Dе9E 4 700 2800

12 �4кл4д=Kе D4EEодK ко<п. 1 10000 10000

Ито7о: 1392330

Ито7о по E<ете: 4308380
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